AR RABRAR S AR EFHEME 1E
2003.12.03
FRE S K4
1. DO X
1.1 DO X & IF X
(7) IF(I.LT.N)THEN (£) GO TO 1 (7) Do 10 1=1,N,1 (™) CONTINUE

1.2 DO XD
FFHIDIT, s=0 L LTWDH, TL T, ITOUHIEE 2 L LT, TOfEZ 2 TOHEMIE T, TN 10012725 F TREE

1T8H5, KIEFATENNDILIE, DO & CONTINUE DO TH b, T2 T, S=S+I BIEFITEINS,
LMo T, 2Tl T AE, S=2+4+6+48++ + » » +100 ZEFE L. ZORERIT s ITfCA SIS,

1.3 DO XLDF#ADY
(1) SARSLOSCE TN,
(2) N—T7F ST INRODO TERS N,

(3) B, BN ELN TRV OT, DO XI5, ZOFFEF &, D040TI=2.0 OEMCASTIZA 5,

1.4 DO XDFEAT

(1) I OEZE{:2, 4, 6, 8, 10, 12 DO DIEREL : 6
(1) A(KYDOKDfE:5, 4, 3, 2, 1 A(KK)DKKDfE : 1, 2, 3, 4, 5
2. Bl

2.1 BeFIoOFA

(1) WEOEEIL, T— 2PN LHELMEHTE R, ZHUTH LT, BANIARSNA 1 S TEE L DT —F 28T 5,

(2) HFHICRERT—LF 2RO LB TH L, BINOEHE., 7T—FBDBL THOEBRDOES T 1ITTE, £, FEOT—X
RO D L& BANOBRFORFTEDT =L ZMETE D, LEN-T, DT —EBHL5E. 7 — X DIRENEEA
2T X0 bREBICHERTH 5,

2.2 BHDES

(1) REAL A(1:3)X{LREAL A(3) (2) REAL B(-1:2) (3) REAL C(5:6)
(4) W K A%l D(1), D(2), D(3)

(5) W K BF A(1), A(2), A(3)

(6) A L B% K(1), K(2), K(3), K(4), K(5)

(7) W FEH 5l K(-1), K(0), K(1), K(2)

(8) A R A% R(1), R(2), R(3)



2.2 7T—42ORA

(1) A(100)=-2003

(2) A(J)=J0+1

(3) A(J)=B(J+2)

(4) DO 10 I=1,100

A(I)=I
10 CONTINUE

(5) DO 10 I=1,100
A(I)=2*I
10 CONTINUE

2.2 T—HXOWYHL

(1) B=A(100)

(2) B=A(J)
(3) B=A(J)
(4) DO 10 I=1,100

B(I)=A(2*I)
10 CONTINUE

3. HEAMHHED
(1) 7. nH A - 7. nX T. Fw.d Z . Ew.d

(2) WRITE (6, 600)A
600 FORMAT (F10.5)

(3) WRITE (6, 600)K
600 FORMAT ('K=',1I5)

(4)  —.123E+02 HAFORNCZEADN 3

(5) BAEMEMEEC 6 [n] AT e 1T



4. FORTRAN ' 117 J A




